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T8 B Pg dHA Yol B del Iedre
R @ olg JTerTd X TG AR -
(A) 3 Hicx

(B) 180 Hicx

(C) 200 Hicx

(D) 10 Hiex

IR B Had WA Yollid & MR a9l
& JUEA & U A g X!
R -

(A) 100 Hicx

(B) 200 Hicx

(C) 500 Hiex

(D) 1000 Hiex

™R & 9 Ied & fog @9 ) e
g

(A) 40-50 foam.

(B) 50-60 .

(C) 20-25 fom.

(D) 30-35 fou.
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(3)

Isolation distance for seed production of

pure line variety of wheat should be :

(A) 3 metres
(B) 180 metres
(C) 200 metres

(D) 10 metres

For the production of foundation class
seed of an open pollinated variety of

Jowar, isolation distance should be :

(A) 100 metres
(B) 200 metres
(C) 500 metres

(D) 1000 metres

Seed rate of lentil for seed production is :

(A) 40-50 kg

(B) 50-60 kg

(C) 20-25kg

(D) 30-35kg

Set-D



4, ORI b G I SART P

& foflU A x R ATET &1 U @M Sl

g
(A)
(B)
(©)
(D)

6:1

8:2

4:2

4:1

5. Feell (B BAd Bl AMUROHS ERYTAR

g7
(A)
(B)
(©)
(D)
6. dd
g
(A)
(B)
©)

(D)
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-

18R 101 e A1 B A ) N 5o B 1 s 1

4157 FTOfTeRoT el gRI
RIS A AT g

415 weoT YRR gRI
o it gAfieRY 9re IR

(4)

Planting ratio of A x R for hybrid seed

production of pearl millet is :

(A) 6:1
(B) 8:2
C) 4:2

D) 4:1

Argemone mexicana is an objectionable

weed of :

(A) Wheat

(B) Rice

(C) Berseem

(D) Mustard

Seed certification is carried by :

(A) Seed Certification Agency

(B) National Seed Committee

(C) Seed Testing Laboratory

(D) Central Seed Certification Board

Set-D



7. A9 AR BT 5T Yl 7. Main objective of seed certification

is:

(A) 99 BT faaRoT PR (A) to do distribution of seed
(B) dS d TTd UGN BT AT (B) to control high quality of seed
DT
(C) N ST BT R He (C) to train seed growers
(D) 9IS BT AT HRAT (D) to transport seed
8. dN DI gqTdT BT o 8.  Seed Act became effective from :
(A) =R 1966 ¥ (A) December 1966
(B) SIS 1978 ¥ (B) July 1978
(C) 3rdcar 1969 A (C) October 1969
(D) i 1975 A (D) March 1975
9. TG -1 G B : 9.  HB-1is the hybrid of :
(A) VAR @I (A) Jowar
(B) HX @I (B) Pea
(C) dIONT &l (C) Bajra
(D) HI®DT DI (D) Maize

AG—-4003 (5) Set-D



10. fy=feRad & & @F-91 aIfhy ugrel w1 10.

I © 2

(A) I ABR & I & ThHs ol A
T A W B

(B) R Fa & IRy R
EIrE|

(C) ¥ Td TS

(D) ST W

11.  YHEIE &9 ddfd 2 - 11.

(A) 3R 41T Bl
(B) @I T @l
(C) YSH® &S @
(D) SWa ¥ ¥ I3 T

12. U 419 P @1 e g8 o 12,

(A) 1963
(B) 1988 7%
(C) 1951%

(D) 1978#

AG-4003 (6)

Which of the following is considered as

inert matter ?

(A) Pieces of seed units which is half or

less than half of the original size

(B) Seeds of Leguminosae without seed

coat

(C) Soil and stones

(D) All of the above

Certified seed is the progeny of :

(A) Foundation seed

(B) Nucleus seed

(C) Breeder seed

(D) None of the above

National = Seed  Corporation

established in the year :

(A) 1963
(B) 1988
(C) 1951

(D) 1978

was

Set-D



13. fo=faRad # 9 fogd ¥y 99 Sdre 13. In which of the following, two line

B B o 1 e A @1 ST fohan system of hybrid seed production is
followed ?

I & ?

A T (A) Wheat

(B) HddI (B) Maize

(C) °r (C) Rice

(D) R (D) Jowar

14. ﬁ{ H Gl IAGT B B foly TR 14. The recommended seed rate for seed

a2 production of Wheat :
(A) 100-120 fbuT. /. (A) 100-120 kg/ha.
(B) 85-100 fhuIT. /B, (B) 85-100 kg/ha.

(C) 120-140 fHT. /. (C) 120-140 kg/ha.
(D) 140-150 fbmT. /. (D) 140-150 kg/ha.

15. fo=foRad & 9 fog o & 997 o 9Rd 15. Which class of seed is not grown in

# T ST R ? India ?

(A) THS o (A) Breeder seed
(B) 3R dIoT (B) Foundation seed
(C) uvild dI (C) Registered seed
(D) VI dw (D) Certified seed

AG—-4003 (7) Set-D



16.

17.

18.

19.

gl s @ gfte & 4l @
(A) IRYF AVSIE

(B) URUF dIoivs

() T

(D) STda ¥ & Big T

fFEfead § | SIF-9 415 & 9 8§

(A)  dIoITaR

(B) 3R fareet!

(C) dIoTH

(D) Suda Wl

fFrfeRed & ¥ BF-a1 Rdo yomd
o g ?

(A) AR

® T

(C) @

(D) 3RS

v det ¥ S @ ae e
g

(A) ¥acaH

(B) T WRd

(©) WG

(D) SUANRS

AG-4003

(8)

16.

17.

18.

19.

Botanically seed is :
(A) ripened ovary
(B)
(®)

(D) None of the above

ripened ovule

embryo sac

Which of the following are the parts of a
seed ?

(A) Testa
(B) Tegmen
(C) Cotyledons

(D) All of the above

Which of the following is dicotyledonous
endospermic seed ?

(A) Pea

(B) Wheat

(C) Onion

(D) Castor

Analogous structure of cotyledon in
monocotyledonous seed is :

(A) Scutellum

(B) Aleuron layer

(C) Coleoptile

(D) Epicotyle

Set-D



20.

21.

22.

ffoRed o gofd & g™ @1 STaRid
PR @ :

(A) T s

(B) UISU UoHd &I dbeild

(C) @M FHxul

(D) TeiTa Ud SHIRGT @7 g
- T —
B9 &1 U % 9Id &

(A) WRIAT Baa |
(B) WA ®Hua H
(C) SN (A) 3R (B)
(D) SWa ¥ ¥ I3 Tl

451 IUET & QR g X W T

(C) ngald gar

(D) oIV WReY

AG-4003

(9)

20.

21.

22.

Genetic cause of deterioration of a variety

is:

Mechanical mixture

(A)

(B)

Technique of plant breeder

(©)

Natural crossing

(D)

Influence of pest and diseases

Natural crossing is the major source of

genetic contamination and varietal

deterioration in :

(A) Self-pollinated crops

(B)

Cross-pollinated crops
(C) Both (A) and (B)

None of the above

(D)

By isolation distance we maintain

during seed production.

(A) Physical purity
(B) Seed viability
(C) Genetic purity

(D) Seed health

Set-D



23.

24,

25.

26.

AG-4003

feodl a1 STgald a1 @1 i
R B U W WR W DI WE
foar ST g ?

(A)  TZ-Tero

(B) 3o wiey

(C) Hiftie ggam wiefu

(D) T 3mse Whev

frforRad o & SI9-91 ol 9 © ?

(A) THS d
(B) MR dIoT
(C) YA dI
(D) Suda Wl

frfofed & ¥ fows 9 Saced @
fleror v AR <M & gRT e
STl & °

(A) THS o

(B) 3R dIoT

(C) YA dI

(D) @RI §f

fFfeiRaa o fodal ATaRe Fgar @
TRUST &l Bl B ?

(A) TSHD o DI

(B) gmﬁm@@aﬁ

(C) SR dIf @l

(D) YA dI1 &

(10)

23.

24,

25.

26.

Which of the following tests is performed
to check the genetic purity of variety at
field level ?

(A) TZ-test
(B) Vigour test
(C) Physical purity test

(D) Grow out test

Which of the following is known as
quality seed ?

(A) Breeder seed

(B) Foundation seed

(C) Certified seed
(D) All of the above

which of the
inspected by

Seed production of

following class s

monitoring team ?

(A) Breeder seed

(B) Foundation seed

(C) Certified seed

(D) Nucleus seed

Genetic purity of the following is not
guaranteed :

(A) Breeder seed

(B) Truthfully labelled seed

(C) Foundation seed

(D) Certified seed

Set-D



27. HIBl Bl BIA B TP g0l X Pl ATBR

BT B

(A) 10000 fdam.
(B) 20000 .
(C) 40000 fdbam.
(D) 5000 .

28. I ToreTyul URIEToT by W ¢
(A) TIHS T W
() R T W
(C) SRR THAT R
(D) PRIPN T W

29. TE ¢ Y I RIS IR 3 ¥ 31

81T &, AT I ©
(A) 31fhg yeef @ U H
(B) Y& 99 & WU H
(C) 3 W & wY H
(D) SWa ¥ ¥ I3 T

30. fAEfIRad & sifegeT 9191 o1 Iemex ¢

(A) TRIA
(B) ®II

©)
(D) BIPIM

AG-4003

(11)

217.

29.

30.

The size of seed lot of maize crop is :

(A) 10000 kg
(B) 20000 kg
(C) 40000 kg

(D) 5000 kg

All quality tests are performed on :
(A) Primary sample

(B) Composite sample

(C) Official sample

(D) Working sample

Broken seed which is larger than half in

size is considered as :

(A) Inert matter
(B) Pure seed
(C) Other seed

(D) None of the above

Example of orthodox seed is :

(A) Coconut

(B) Coffee

(C) Wheat

(D) Cocoa

Set-D



31. f=foRed & & fog e & uRumg 31 The results of the colouring pattern of

SR TF B e Jet | PR B living tissue depends on which of the
55 following tests ?

(A) T W (A) Purity test

(B) 3o wiey (B) Vigour test

(C) I werr (C) Moisture test

(D) Sl &HdT NI (D) Viability test

32. fodl I=aele Uolfd & SIRM¥MH SR 32. The initial handful seeds of an improved

o7 @Y el T S - variety is known as :
(A) TSR § (A) Nucleus seeds
(B) WM& dI (B) Breeder seeds
(C) SR d (C) Foundation seeds
(D) I 4\ (D) Certified seeds

33.  THGIUAl H WUSROT 3 BT @ : 33.  Storage organ in monocot is :
(A) qI (A) Embryo
(B) Yo (B) Endosperm
(C) dIouA (C) Cotyledons
(D) SUYa H A Bl 7l (D) None of the above

AG—-4003 (12) Set-D



34, SIH T

(A)
(B)
(©)
(D)

b 11 + g 9
Had 31fha g
31fha Uyl + 39T W

U

35. 98 dIdl foM@! TOM W Jergd Yo e

g T UM Bled 8, $BAN B

(A)
(B)
(©)
(D)

& 4
B SIoMHCS die
IGIRCIS]

T dTt

36. o9 ‘B’ ollgd Pl Ul Wy ufdd § umy

ST €, T4 39 $al oIl @ ¢

(A)
(B)
(©)
(D)

EIREINSN

ikt

TR oATeT
Swad # ¥ Plg T

37.  SIcWfolT Iwf¥d ?

(A)
(B)
(©)
(D)

AG-4003

IR 3
HFhT
IIORT I

RSN ¥

(13)

34.

35.

36.

37.

Dockage is :

(A) Inert matter + pure seed
(B) Inert matter only
(C) Inert matter + other seeds

(D) All of the above

Seeds showing softness, losing dirty

water due to pressure is known as :

(A) Hard seed
(B) Fresh ingerminated seeds
(C) Normal seeds

(D) Dead seeds

When plant of ‘B’ line is found in female

row, then it is known as :

(A) Pollen shedder
(B) Off type
(C) Restorer line

(D) None of the above

Detasseling is related to :
(A) Jowar
(B) Maize
(C) Bajra

(D) Pigeonpea

Set-D



38.

39.

40.

41.

AG-4003

# T @ A

(A) Tcdl g

(B) el &

(C) 9N R T FT I3 Y91 ol gedl
(D) SR ¥ ¥ P T

ffeiad # 9 B 4USRY & FHI 9l
@ ATYHI BT P v 8 2

(A) 9N BT YR

(B) HI @I AT

(C) <TUferd amear vd dTg

(D) Suda Wl

& RARA O GHA &M 9 g4 Swn
5l o €, Pea ¢

(A) &Th

(B) Ffecim

(C) M (A) 3R (B)

(D) SWYad # | BIg T2

DU A9 W JARRmer Rerd
g

(A) TETS ¥

(B) T A

(C) 8 fieell #

(D) BIABK H

(14)

38.

30.

40.

41.

The rate of deterioration increases in seed

as the moisture content :

(A) Decreases
(B) Increases
(C) No effect of moisture on seed

(D) None of the above

Which of the following affects the seed
longevity during storage ?

(A) Kind of seed

(B) Moisture content

(C) Relative humidity and temperature

(D) All of the above

The chemicals that becomes effective
when applied prior to the infection :

(A) Protectant

(B) Therapeutant

(C) Both (A)and (B)

(D) None of the above

Central Seed Testing Laboratory is

situated at :

(A) Lucknow
(B) Chennai
(C) New Delhi

(D) Kolkata

Set-D



42.

43.

44,

45.

AG-4003

ffeiRad 4 9 dH-91 99 SR @
fore ufered Waex wTed &l 8 ?

(A) ST A

(B) WRH g HiY {7

(C) & fawafderey

(D) 7Rt EEfS W el feifcs

fodl wga @l fhedl gofa &1 98§
RTI®T ST 9 & & g 98 Gl
iU | T & 9 8, FEA B :
(A) THD dI

(B) Uil dIet

(C) DU-ANR i

(D) goell eides WS

ffoied & 9 oF-91 99 GRE @
9N e © ?

(A) 4T 1 garg

(B) 9T @ WIS UG e

(C) dIN SUER

(D) 99T ITEH

el AT BT ST fBAD ST W MBI
g 7?

(A) THS d

(B) 3R dIoT

(C) WG 45

(D) SRd A1

(15)

42.

43.

44,

45.

Which of the following is not a public
sector organization for seed production ?

(A) National Seed Corporation

(B) State Farm Corporation of India

(C) Agricultural Universities

(D) Maharashtra Hybrid Seeds Co. Ltd.
Seed of the variety to safeguard against

the losses caused by complete crop
failure is known as :

(A) Breeder seed
(B) Registered seed
(C) Carry-over seeds

(D) Truthfully labelled seeds

Which of the following is not a part of
seed processing ?

(A) Seed drying

(B) Seed cleaning and upgrading
(C) Seed treating

(D) Seed production

Blue colour tag is used on the bags of :

(A) Breeder seed
(B) Foundation seeds
(C) Certified seed

(D) Registered seed

Set-D



46, fr=forRad & & -1 dlgd TR 9] 46. Which of the following lines maintains

N male sterility ?
(A) ‘A’ oflgd (A) ‘A’ line
(B) ‘B’ °llgd (B) ‘B’ line
(C) ‘R’ ollgd (C) ‘R’ line
(D) SUYa H H IS el (D) None of the above

47. fEfRag ¥ 9 o9-A1 MgdHG oTgH 47. Which of the following are isogenic

39 lines ?

(A) A Ud R oflgd (A) AandR line

(B) B Ud R oI (B) BandR line

(C) A TJd B dosd (C) AandB line

(D) SUYa H H IS Tl (D) None of the above

48. A xR @ HaxU ¥ ol 491 U B T, 48. Seed obtained after crossing A x R lines,

HECT 2 is known as :

(A) YT I (A) Certified seed
(B) 3R dIoT (B) Foundation seed
(C) oM@ dw (C) Breeder seed
(D) @R § (D) Nucleus seed

AG—-4003 (16) Set-D



49,

50.

51.

52.

AG-4003

Hah & fgHa] dl (o ext | ol
SIS ofTgHl T SUANT b oirer © 7
(A)
(B)
©)
(D)
SR & GaR 4 B Sed B B forg
fod TPR B R T T SYART fhar
ST 8 ?

(A) 3TTaRTS R e

(B) BRG] SAaRId R gwead
(C) PIHTEE TR g

(D) SWE & W B &l

R 27 Nl BT fhdd 1T GH0T PR

W ®Y 9 FdY G971 7T © P

A O WD

(A) ‘R’ g
(B) ‘B’ arE

(C) @Ml (R) ¥R (B)
(D) SWa ¥ ¥ I3 T

forf R a1 ~IAqH SMaRTe g Bl
g

(A) 100%

(B) 99%

C) 98%

(D) 95%

(17)

49.

50.

51.

52.

How many inbreds lines are involved in

producing double cross hybrid in maize ?

(A) 2
(B) 3
(C) 6
(D) 4
Which type of male sterility is used for

hybrid seed production in Jowar ?

(A) Genetic male sterility
(B) Cytoplasmic genetic male sterility
(C) Cytoplasmic male sterility

(D) None of the above

Male sterile plants make permanently
fertile by crossing with :

(A) ‘R’line

(B) ‘B’ line

(C) Both (R) and (B)

(D) None of the above

Minimum genetic purity percent of
hybrid is :

(A) 100%
(B) 99%
(C) 98%
(D) 95%

Set-D



53. 2, 3, 5-CIgBic CCMlferdd daRigs &1 53.  Colour of 2, 3, 5-triphenyl tetrozolium

HT A chloride is :
(A) efled (A) Red
(B) eIl (B) Pink
(C) Hrem (C) Blue
(D) SWE ¥ | FIg el (D) None of the above
54, ODV & a0 & : 54. ODV stands for :
(A) Other distinguishing varieties (A) Other distinguishing varieties
(B) Other developed varieties (B) Other developed varieties
(C) Oven dried varieties (C) Oven dried varieties
(D) SUYa H H IS el (D) None of the above
55. g Ul S 997 Scared o drel geiadi 55.  Plants differing in their characteristics
& et § A= B £ dEad § from those of the seed variety are called :
(A) TieH e} (A) Pollen Shedder
(B) Y (B) Off type
(C) AT o (C) Shedding tassel
(D) SUYa H § I Tl (D) None of the above
56. W e U die e § tH W qIF 56.  The synchrony in flowering of seed
2 &) ufhar Peorel & parent and pollen parent is termed as :
(A) fAfR (A) Nipping
(B) AT (B) Nicking
(C) ST (C) Priming
(D) H|RT (D) Curing

AG—-4003 (18) Set-D



57. f=folRad # 9 fodar die IRe & oar 57.  Which of the following is also known as

ST B ? seed parent ?
(A) ‘B’ oflgd (A) ‘B’ line
(B) ‘R’ cflgd (B) ‘R’line
(C) <A’ ol (C) ‘A’ line
(D) SWE ¥ | FIg el (D) None of the above
58. WMMRIGAT 9l Scdled X & ol e 58. Generally rate is kept .............. for seed
N AGARIS B I R E production  than  commercial  crop
roduction.
(A) ®H (A) less
(B) 3fI® (B) more
(C) 9HH (C) same
(D) SWE ¥ | TS el (D) None of the above
59. o ¥ HAY diol Scdled B+ b oIy AreT 59.  For hybrid seed production in rice, female
vd R o} @ BRI g and male plant ratio is :
(A) 4:2 (A) 4:2
(B) 8:2 (B) 8:2
€ 2:2 (C) 2:2
(D) Suga H A Bl el (D) None of the above
60. o9 ¥ AN el ARV 60. Roguing in rice should be done :
(A) YA BRES (A) prior to flowering
(B) W 3o H (B) at flowering
(C) uRuFaar arawer ¥ (C) at maturity
(D) SUgad JHI (D) All of the above

AG—-4003 (19) Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |
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